¢ EHEH BIER

10 - 20 - 30ER{LDER $6E11A30H
& fi K % ouT I N TOTAL]| HDCP NET
Z Bl NIARF 42 41 83 9.6 73.4
HEB KB H#EX 55 49 104 28.8 75.2
3 i KN # 46 48 94 18 76
4 1| A Ex 52 54 106 27.6 78.4
5 | FEk SR 58 53 111 32.4 78.6
B:B| EF&F 76 90 166 36 130
405X DEB
IE fi K % ouT I N TOTAL]| HDCP NET
& | I i 46 50 96 24 72
#ER &R BR 50 49 99 25.2 73.8
3 fif| KRIIXiE 45 46 91 16.8 74.2
4 i R fE 49 48 97 22.8 74.2
5 fi| BRR D 53 56 109 34.8 74.2
B:B| #kK=EE 70 61 131 36 95
50X DEB
IE fi K % ouT I N TOTAL]| HDCP NET
= B AE — 38 41 79 9.6 69.4
H2EWH JTREX 41 42 83 13.2 69.8
3 fiz| KEEH 39 37 76 3.6 72.4
4 fif i = 49 45 94 21.6 72.4
5 i */lll /|:|1-.|' 46 53 99 26.4 712.6
B-B £l = 73 63 136 36 100
60z L DEB
IE fi K % ouT I N TOTAL]| HDCP NET
Z Bl BFLaA 45 39 84 12 72
#2ER B af 45 44 89 15.6 73.4
3 fif|] FRHHER 44 42 86 12 74
4 fiI| TERE &8 52 57 109 34.8 74.2
5 | HIEZ 37 41 78 3.6 74.4
B-B g |m 65 67 132 36 96
70 - 80K DER
IE fi K % ouT I N TOTAL]| HDCP NET
= B IR 5L 43 42 85 15.6 69.4
#ER WHEE 40 39 79 8.4 70.6
3 {u| EH#H— 38 40 78 7.2 70.8
4 7| IBEF EER 43 41 84 10.8 73.2
5 {iu| FF =8B 55 47 102 28.8 73.2
B:-B| X=E R 58 65 123 36 87
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